Py

Racing Screers

REAR MUDGUARD ADAPTABLE TO

BMW R NINE T S5C

Ref.: 9464 ) .

(Black colour)

Ref.: 9464 C

(Carbon look)

A

© ALLEN & TORX
N° 3
Ne 6 N° T40
N°8 Ne T30 Ne 16
o O
\J
>
2 personas ificil-
2ppeople 30 min gy
DESCRIPTION ‘QTY (N
1 Mudguard 1 9464)/CM3
2 Support 1 10324N
3 Silentblock 3 SILENBGONE-064
4 M5x11 1SO 7380 Allen screw 3 TORNI-AI----520
5 10) M10 locknut 1 | TUEA-D985.8-M10
6 M10x75 DIN 912 12.9 Allen screw 1 TORNI-D912--548
7 M8x45 DIN 912 12.9 Allen screw 1 TORNI-D912--622
8 © Arrowhead friction IGUS @ inner 15 x @ outer 17x15 1 COJIN-P-WSM-517
9 @ Bush with flange @ inner10,5 x @ outer15x18 1 CASQUI-M----504
10 @ M5 bush with flange 3 CASQUI------ 517
11 O M8 glower washer 1 ARAND-G8----505
12 Q DIN 127 M5 glower washer 3 ARAND-G5----506
13 @ Bush @ inner8,5 x @ outer22x5 1 CASQUI-M----621
14 Q M5 1SO 7380 screw cap 3 TAPON 85

Pg. 1/3



https://www.motorcycleid.com/puig/

Py

Racing Screers

MOUNTING INSTRUCTIONS

PPPPPP



Py

Racing Screers

MOUNTING INSTRUCTIONS

MONTAJE
ASSEMBLY @

@ - Tightening torque for screws n° 6 (56 Nm) and 7 (24Nm).

MONTAJE MONTAJE
ASSEMBLY @ ASSEMBLY @

Pg. 3/3

Learn more about motorcycle parts on our website.


https://www.motorcycleid.com/parts.html



